Solv\'rv\(‘)\ J’L\L Lov’plo\(&

é%

Csl'zhzﬁ/r{CA’ o - NN (o, 02D
N
(>
/2% )—;Tp P /P}%Q\
/g/ s
~ . r /7
. P
A'/ \ g
¥
Lovg\a\cMu A C/zﬁ:,va‘\ cal Conds -
7, l 5 , S\ \ 62‘\/‘ rB’L\Vl
v\ = — :‘( o == ) — —+
j’ dg \ 8 / g?-o ?KFZ 2%
Tre o denvakue Com ke revniMen
A, RV VY 2tV | 2V
[ 29> N (Al ) 9T I
=) La«e\acc 20 Vl\/ = read s
N . 1 9V Rty V.
op bR gt et L % O




[_041:. '6“ 5«(/?0\,-4&9\4 éb’u\\‘\tS\/\S , lre

V(. @, 2) = Rlp) Bled Z[)
O ser¥re
0

waew—/} i o oond
sowm,  olp)

y, (7
5}%13%'

S\/Slww #»u mﬁwwev\l“s %b/ wL\/yJ,
mush ke A om/\y’—m\Li Seepn Lero

p\rﬂ‘, So AN [ale  al L We lheve
h(g) + oz ale) + flz) =0
Kugg  § end ¢
%/7} = (onst

2

i éouuQ} aMQ_ \rmszi\) 2 s-ekq‘v\l%
‘Lﬂ‘/ J"\'« L.l‘LS J'\ Lepnain 0.




J gz t
= bl + k) + ale) =0
\ T r)
owly 9 S

epw K Lo ot N S c(p , L@ftu;m g[?\:msL

Sy el f‘)(ﬂ”\« = _v*

N

o

=0

Leb ws  new RSl ko eal /Aqu- po S&\/c\'

=) k% sl o possve

|
22(z) = Re® + R& > vz (exp. lwcwamj/iﬂcm&iq\,

We  alyo MOUWNL Y  tea) (owQ goslt\ra\

@

vt wal andl eo s hve

5 8lg) = C csfgp) + Osi(v9)

/] \ VY]

O G (osa\a\\w,,m

Qe AW pmo&u

r\.ako—(. tf

&lp-+2m) = 5@

U

AV, 'll«\.leﬂz/




X = ko here 0 ¢ mdial oad

o k0 Mo Cowc bl ”PMM\-L/

5 L _Ad 4
48 38 axX AX
W) { n W
=) 4. - £ 4 - 2
dg* A9y ax?
A2R i AT
=) redd eq — + — — + [k - —/ \R=0
1 A&"‘ 5 17, \
2 ~ 2
Kres o Bpeed LKV NR =0
XZ X/ &)& xz
’_“’wz — g v ! Bessel
=) a4k + = — £ /\"‘ ———\ﬂ? =0 |
AXZ A AX { Xz 7/ NS
\‘-

Pegel ,/:wckwc o[ onde v

Solukews n

(S () and Yo 1)

()-CCA“ Y s Al ‘!730./\'

J,(x) = Besse] fw«\im of  He f\vsL kO
Y [ : l secmadd Kl
( My (><\ is Qenold N)/xj (N gumann ﬁuaLﬂa\ bw

Fs\/ o 9’»\1% \//' JV /x\ ﬂl‘«‘g, YM/XB Al Q;"’Wq’(a‘l
ih«eQ«ba). s lnk o8 fdf M Ressel eg.

Jacl’tk\«)

The Y,/ﬁ d:vwgz X = kp > O |, je. al 4

CJVU‘WQW\'\\/Q @mblewus V\A.M” \/ /l[\V\u{'L '%a.»e,
:b ,Acws o J /x\ 5\4/

2 - ﬁXiSe

N (x) i e pe/mss wble




A oncuele anyvv!)[i : W

- /\W< Vavelsg) ab 2= (1)
| )
I Ed Y
/ V=0 &l g=a (12> !MS«&QLI Do+
-~ [ 4\7)' LZX?A

s ~\=p ok 2= /D

S@\‘omb\e 7 \_/ [_(3, 7 2\, = Rkv./g\ 1‘2\;/@2"- (2)

.\\V(.kg\_ ( C ossvgp + @Qm\%f\ (Ae¥® 4 B “%3

(0=N(g.9¢ ,z=0) < PN+B > B=-A

{

> 2[5 =< sikhkz

('\\\,Or\/(gza,.c‘o,z\, LN, (ka)

5 S, (k) =0 = k=k, = =%

whoe X 15 He wM Yok odf A\.V.[x\,

(‘A:\\Q.l?)! ..~-‘> /0‘0 . ’(‘ m*Lb)
/[, M JLMM [@.&z(‘lé
=7 ¢ XPRNREW, 'f\rjv[kv ?3\" l‘zf‘; }éyéo\},\d\)(;{f/_;\,
W ‘ -~ | —=

\/(.?1((12\ z > Jv(k P\ 5“’\\’\”‘\/\/\2\)(6: C-S VP
= + Dyn Sin M)

Cow\ &%WCD MCGB C\/m y D\/h A MMWWOQRM le

Bossel  funchnns (pdegl  and Foviedseion (- Aeg)®



